1. One half of a number is three times 9. What is

one third of that number ?
(1) 16

(2) 18

. Inagroup of 40 tourists, 25% want to go to Agra,
15% want to go to Jaipur, 20% want to go to
Amritsar, 20% want to go to Goa and the rest
want to go to Ganktok. How many tourists want
to go to Gangtok ?

. Ravi and Rani, both were born in the month of
September. Ravi was born on Wednesday, the
5th September. Rani is 19 days younger than
Ravi. On what day was Rani born ?

(1) Wednesday
(2) Monday
(3) Tuesday
(4) Friday

. How many §'s in the following number series
are preceded and followed by even numbers ?

4257625653527845853257656

. Tt g =1 e 9 W AW T R | 39 W W

ws ferd &=m gm ?
() 16
) 18
(3) 21

(4) 28

. 40 T & T T H 25% ST AT T €, 15%

S M A €, 20% STgaeR WM Wed € ok
20% TSN ST =TEd € | Ah! G TR W 9ed
£ | frad arh e W aed 7

. A R T, S w1 I e § gen o 1 W A

quaR 5 feom & A s fam o v a9 19
f o1 ? | T o o e A gam @ 2

(1) ¥R
(2) dHar

(3) HTEER

(4) AR

. e & T den gaen § feat 5 ofw 0@ ¥ e

Ted SRR H AR e ® ?
4257625653527845853257656
(1) 6

2) 5



5. Bunny would be x years of age after 7 years.

What was his age 4 years ago ?
(1) x+4
(2) x-4
(3) x=7
@) x-11

The radius of a circular garden is 70m. How long
is the outer boundary of the garden ?

(1) 220m
(2) 240m
(3) 440m
(4) 540m

Abha says her mother is the only daughter-in-
law of Arun’s father’s mother. How is Abha related
to Arun ?

(1) Sister
(2) Daughter
(3) Aunt
(4) Wife

If a chair is called a table, table is called
blackboard, blackboard is called duster, duster
is called chalk, chalk is called desk, and desk is
called lunch box, where would the teacher write
in the class ?

(1) Table
(2) Desk
(3) Blackboard
(4) Duster

Directions : In questions 9—14, select the

alternative that is different from the other three.

9,

(1) Igloo
(2) Hut
(3) Workshop
(4) Flat

5. 7 94 =g T x TN T B W | 4 T B IHH!

g farert oft ?
(1) x+4
() x-4
(3) x=7
@) x-11

. TF TMemeR i & e 70 . 2 sw e @

TR R FY Aarg fwat g 2
(1) 2207
(2) 2407,
(3) 4407,
(4) 5407,

o wEdt  fF Swet | ovew # fyan Y W oS0

THA 9 ® | S 1 e ¥ 7 fwa g ?

(3) gam
(4) weft

. Ifg HHl H A FE, I HI HILE, WHIE H

e, FISA & oI, IiF Hl T&F J S H TH
%1 fesn, @t sreams wan o form W fererm ?

(1) =

(2) T=h

(3) vAMIL

(4) @red

frder : 9w 9—14 H 39 fawes | gfT S e

=T



10. (1) Ant 10. (1) =&
(2) Honeybee (2) AYweFE
(3) Butterfly (3) foaeh
(4) Spider (4) wHE!
11. (1) HARD 11. (1) HARD
(2) STOP (2) STOP
(3) LOOK (3) LOOK
(4) NEXT : (4) NEXT
12. (1) 263 12. (1) 263
(2) 441 (2) 441
(3) 284 : (3) 284
(4) 293 (4) 293
13. (1) adg 13. (1) adg
(2) beh (2) beh
(3) chi (3) chl
(4) dgj (4) dgj
14. (1) 5,6,8, 12,20 14. (1) 5,6, 8,12, 20
(2) 7,10, 16, 28, 52 (2) 7,10, 16, 28, 52
(3) 9,14,24, 44,84 (3) 9,14,24,44, 84
4) 3,4,6,10,18 : 4) 3,4,6,10,18
Directions : In questions 15—20, find the missing feor : v 15—20 ¥ & T Een ¥ fam wwm #
term of the series : T ?g SUg fawew 9T ¢
15. 8, 24, 48, 80, 120, .............. . 15. 8, 24, 48, 80, 120, .............. :
(1) 162 (1) 162
(2) 168 (2) 168
3) 172 3) 172
(4) 200 ~ (4) 200
16. 2, 10, 26, 50, 82,......... . 16. 2, 10, 26, 50, 82,......... .
(1 112 (1) 12
2) 124 2) 124
(3) 132 (3) 132

(4) 122 ) @) 122



17.

18.

19.

20.

0,1,1,2, 3, . :

4) 6

2,8 18,32, 50, ... .

(4) 9%
4,7,10,13. 16, ... ,

(1) 19

ael. mge, ghj. ahu
(1) jsk
(2) npe
(3) vmn
(4) oph

if in certain code. ORANGE s written as
SVERKI', how wotild you wnte FOMEGRANATE
In that code 7

(1) TSQIKVEQEXI
(2) ORPGJTCSCVP
(3) RQOGHSCHCUF

(4) TSQIKEVQXIE

17.

18.

19.

21

0,1,1,2,3, i, .

(1) 4

4) 6

2,8,18,32,50, .....oooenn .

(3) 80

4) 96

47,10, 13,16, ... :
(1) 19

(2) 17

(3) 20

4) 21

=21 mge, ghy. anu.

(1) Jsk

(2) npe

(3) vmn

(4) oph

7tz ORANGE' #1 &1 &g 9§ 'SVERKI

{7 A T AT 5 POMEGRANATE' 1

e ?

(1) TSQIKVEQEXI
{2) ORPGJTCSCVP
{3) RQOGHSCHCUF

(4) TSQIKEVQXIE



22.

23.

24.

25.

In a code language ‘RACING HORSE' is written
as 564873 21590. How would you write ‘SHE IS
NICE' is the same code ?

(1) 928804780
(2) 92089 7840
(3) 982897804

(4) 920897480

Find the total number of triangles in the given
figure :

(4) 16

The sum of ages of Sudha and her motheris 63
years. Four years back her mother’s age was 4
times that of Sudha’s age at that time. What is
the present age in years of Sudha’'s mother ?

(1) 44 years
(2) 58 years
(3) 48 years
(4) 52 years

If one alphbet removes from word ‘FRIEND’, then
the meaning of new word is just opposite to
‘FRIEND’. What is that alphabet ?

4) E

22.

23.

24,

25.

Iz ‘RACING HORSE' =1 fardt @i s & 564873
21590 forem ¥, @ =it = o ‘SHE IS NICE’ #9
ferart ?

(1) 928804780
(2) 920897840
(3) 98289 7804

(4) 92089 7480
Fret fw T ottt fored frge € 2

T TS SHH! W H TAGE S H AT 63 79 R |
<R T TES Y1 I 6 Bl Y IH TG H G H
3T 1 4 TOT off | U1 R 6T Y TAHH I FAE ?

(1) 44 =
(2) 584
(3) 487
(4) 52

I W% ‘FRIEND’ & | &1E T& 31eR e <, @
T o7 1% 1 31 ferqdia &1 S @ | aae 98 9an
FME?



26. Which of the following diagrams indicates the best

27.

28.

29.

relation between Women, Mothers and Doctors ?

f3x2=10,4%x3=145%x4=18,6x5=22,
then7x6 =7

4) 42

Rahul'came to know that his place is 12th from
rightin a line of boys and 4th from left. How many
boys will add so that total boys become 28 :

Sonia thinks of a number and multiplies it by 6.
She then adds 10 to it and divides the result by
8. Then she adds 6. The number thus obtained
is 11. What number did Sonia think in the
beginning ?

26. 3 g T Ferll F @ B  for ey TR |

27.

28.

29.

A Y TS I g A @ ?

@ %O

g3 x2=10,4x3=14,5x4=18,6x5=22,
M7x6=7?

(1) 20
) 26
(3) 30
(4) 42

TES T T = F T8 ASH F TF e A et
3R @ 1241 @ 3k it iR | 4a ® | dfem o frad
wgH 3R it & forg 9 fF 28 o o 9 2

(1) 12
2) 20
(3) 14
(4) 13

W 3 T g e SS9 6 @ Ton R ) fe
IE 10 WS 3R 9o 1 8 | 9 K | 39 9’
I 6 IS Ry IR SN e Ta g w11 |
Tary & Qi 3 veat $H- gem 9 ot ?



30.

31.

32.

33.

34.

In a Zoo, there are 80 animals. Out of them 50
are mammals. Out of these mammals, 10 have
horns on their heads. What percentage of animals
in the zoo have horns ?

(1) 15%

2) 12.5%
(3) 10.5%
(4) 13.5%

20% of the gth of anumber is 60, then number
is :

(1) 275

(2) 375

(3) 325

(4) 400

How much percent is 75 gms of a kilograms ?
(1) 7.5

@) 0.75

3) 075

(4) 75

A man purchased apples at the rate of 18 for a
rupee and sold them at the rate of 15 for a rupee.
The gain or loss percent is :

(1) 20%
@ 16%%

(3) 15%
(4) None of the above

In a class of 36 students the rank of Nitesh is
18th from the top. What will be his rank from
bottom ?

(1) 19th
(2) 17th
(3) 18th
(4) 20th

30.

31.

32.

33.

34.

s fafearer & 80 wmar & T ¥ 50 WA
TR | TR A A ¥ 10 B AR i ¥
et fafearer & fras whrer wmad @ @ € 2

(1) 15%

2) 12.5%
3) 10.5%
(4) 13.5%

. 4 ,
afs frdht Hem & gth F120%, 60 B, A dEN T

(1) 275

2) 375

(3) 325

(4) 400

75 7 | feheiom w1 faRae gftem @ 2
(1) 7.5

) 0.75

@3) 075

@) 75

TF AfK 1 T F 18 I W J 9 TITH | T
FIsSHRAIT A | TFwa e waf 2 .

(1) 20%

) 16%% |

(3) 15%
(4) STgma o ¥ = T

36 faanfai 1 Fa § FAv F WA FRA 187 7 |
FE R F AR wmE 2

(1) 19a
) 17a
(3) 18ai
(4) 20ai



35. Identify the trend in the given arrangement and

select the missing number.

6 8 10
5 |10 [ 10 [15] 270{ 10| |10 ? M
10 15 12
(1) 240
(2) 230
(3) 100
(4) 132

Directions : 36 — 37 Find the missing numbers

in the figure given below :

36

37.

38.

(1) 218 °
(2) 1208

" (3) 228
(4) 282

(1) 20
2) 92
(3) 228
(4) 282

The Sum of the ages of 4 children born at the
interval of 2 years each is 40, what is the age of
the eldest child ?

1) 13 years
2
3

(
(2) 8years
(3) 11years
(4) 7 years

10

35. & < TR wrERen ¥ W # wEWH #X qen g9

& 91 |

6 8
5 1110 [ 10] |15 270
10 15

10
107
12

10 1

(1) 240
(2) 230
(3) 100
4) 132
frder : 36 - 37 Fr=Afarfaa spfai o o ensi

T TaT AWM |

36.

37.

38.

(O

S

(1) 20
2) 92
(3) 228
(4) 282

Iz Z1-2t 7 & FaUe § U1 gU 9N g6 bl oY
1AM 40 B, @ TAH qE T H A FNE ?

(1) 13=d
(2) 8ad
(3) 1M ad
4) 734



39. The hour hand of a clock is at 6 and the minute
hand is at 1. If the minute hand moves ahead at
an angle of 150°, what would be the time by that
clock ?

(1) 6:15
(2) 6:20
(3) 6:30
(4) 6:50

1
Amar saves —rd of his salary every month. At
the end of one year, he has saved sixty thousand
rupees. What is his monthly salary ?

40.

(1) Rs. 12500
(2) Rs. 15000
(3) Rs.25000
(4) Rs. 30000

Directions : Read the passage below & answer
Questions 41—44.

An aeroplane flies from Delhi to Chennai. On the
way it stops at Bhopal and Nagpur. it covers 560 km.
from Delhi to Bhopal in 70 minutes. The distance of
300 km. from Bhopa!l to Nagpur is covered in 40
minutes. From Nagpur, the aeropiane flies at a speed
of 500 km/hr. and reaches chennaiin 1 hour.

41. What is the distance of Chennai from Delhi ?
(1) 1275km.
(2) 1160 km.
(3) 1240 km.
(4) 1360 km.

42. What was the speed of the aeroplane between
Delhi to Bhopa! ?

(1) 420 km/hr.
(2) 300 km/hr.
(3) 480 km/hr.

(4) 560 km/hr.

11

39. T €l F W Al ¥ 6 W B ok firve el g 1
T af fie et g 150° S g S @ @ 3w T
St W FN TS EA 2

(1) 6:15
) 6:20
(3) 6:30
(4) 6:50

s S S W on e [% -
TIA FE@ R | TH F9 B 3 § 3T 918 9N T
T fore | 9 wifs a9 fFam @ 2

(1) . 12500

40.

(2) %.15000
(3) %. 25000
(4) . 30000

w9 fo@ sk W oI @ TeE T
41—-44 % IW T4 |

TF AR TE fioelt @ 9= 9w ® 1 TR H 7w
TS ° AT B € | fEeht @ Ao w1 560 fRA. @,
Tz 70 foe ® 1 @ ® | W @ AR S 300 f
0 77 40 fFz ° 79 F 2 | AR | 98 g Se
500 fw.ot. wfa =2 #: fa | 1 W2 § T vgT IR

41, feoeht @ 9= =it gt foeet 2 2
(1) 1275w

(2) 1160 f.s.

(3) 1240 fw.

(4) 1360 fer.st.

42, fzoelt ¥ 9 99 qHT BT oS &1 ufa F= oi?

(1) 420 fesii/ein
(2) 300 fawwi/=ar
(3) 480 fwst/=iar
(4) 560 fasi/=a



43.

44.

45,

46.

47.

12

What is the distance of Chennai from Bhopal ?
(1) 800 km.
(2) 700 km.
(3) 500 km.
(4) 1100 km.

What was the maximum speed of the
aeroplane ?

(1) 480 km/hr.
(2) 500 km/hr.
(3) 450 km/hr.
(4) 420 km/hr.

If South-East becomes North, North East
becomes West, South West becomes East and
so on, what will West become ? '

(1) North East
(2) North West
(3) South East
(4) South West

Ais two yeafs older than B, who is twice as old
as C. If the total of the ages of A, B and C be 27,
then how old is B ?

(1) 7 years
(2) 8years
(3) 9years
(4) 10years

Present ages of Sonia and Anita are in the ratio
of 5 : 4. Three years hence, the ratio of their
ages will become 11 : 9 respectively. What is
Anita's present age ?

(1) 24 years
(2) 27 years
(3) 40 years

(4) 45 years

43, 3¢ ¥ Wi w1 g0 et € 2
(1) 800 fer.4f.
(2) 700 ..
(3) 500 fem.H.
(4) 1100 f&wh.

44, T RIS Wt e wfa fat off 2

(1) 480 f.=. /5
(2) 500 f.s. /5
(3) 450 for.sh. s
(4) 420 fw.sh. /g

7fg Zfaror-gd fem I == Y, SW-qd ufe=m =9
WY, fyo-ufyem @ 39 W iR T TER H
ftada @Rt fgemet # +ft omu, @t s@ent ‘ufvem’
fen == FHEamEh ?

(1) SR
(2) S ufv=m
(3) =feor gd
(4) =feror afy=m

‘A BH2adagI? | ‘B ®IIH'C AT IR
A, B 3R C %t =t a1mg 27 94 2, & B &1 37 &0
22

(1) 7349
(2) 8=

45.

46.

(3) 9ad
(4) 1099

T 3R ST Y adHH 37 H SIS 4 T
9 N & AIg ITR! 3T HT ST HAL: 11 : 9 B
ST | 3 S adHE ey fRat @ 2

47.

(1) 24
(2) 277
(3) 407
(4) 457



Directions : Select missing arithmetic operations

in questions 48-51 :

48.

49.

50.

51.

52.

53.

5-.9-.3-2_.5=18
(1) +, %, + -
2 %, +, + -
&)
@) +, + + x
4_.2_.6-3-5=15

xa + +|_

7-3-4_9_3=16

(1) + x, -, +

@ x++ -

(3) x, + - =+

@) + + x -

Aman walks 3 Km. towards South. He then turns
east and walks 5 Km. Then he turns north and

walks 4 Km. Again, he turns west and walks 5
Km. How far is he from his original position ?

How many meaningful and independent words
can be made from ‘PINEAPPLE’ without changing
the sequence of alphabets ?

(M2
@5
3 4
4 3

13

rder : WA 48-51 ¥ wE nfvrdrg wiwamet &1 v W=

48

49.

50.

51.

52.

53.

5.9.3-2_5=18
(1) +, %+~

@) x,+, + -

(3) x, + + -

@) +, + + x
4.2_.6-3-5=15
(1 +, + %=

@) =+ + %, -

(3) = %, + +

4) =+,
6-4) —-8-8_-2=9

(1) %, %, 4, -

@ + %, =+ -

@) - %, + -

@) +, = %, +

7-3-4_9_3=16

(1 + %= +

@) x + + -

@3) x, + - =+

@) +, =+ x, -

% e 3o Y R 3 fRR. o € | iR e
T & R g 5 fFf. 9o | TP 9% 9% IW
FI AR qEH 4 fH.A. 5o | fF a7 ufeew &t oK

e 5 TR, =en | o % st e feufa @
R ?

(1) 2 fwh.

) 1fw@.

3) 3fm.

(@) 1.5fw. |
‘PINEAPPLE’ =% § 319 st & faaq Frefyut
T S WA € 2 UH HA § q0 1w T Sger
=R |

1 2

(2 5

) 4

4 3

xl +!—



14

fader : e Wi o fw e ¥ R stUSh @ Ao
g7 wefi| fF T # 1 @ avl w1 wE wW g

Directions : Given below are five words, each
represented by a letter. Select a correct sequence of
these letters.

54. A » Earth B —» Continent C — Solar
System D — Universe E — Country

54. A - gedt B - WEEIY  C — |t uf@Er
Dowals E » 3

(1) CDEAB (1) CDEAB
(2) DCABE (2) DCABE
(3) ABECD (3) ABECD
(4) BCAED (4) BCAED
55. A - Cloth B — Cotton balls C — Thread 55, A > @& B 5 H99 dAd C - MM
D — Cotton plant E — Cotton fibre Do FUHF NN E - U9 &
(1) BCDEA (1) BCDEA
(2) DBECA (2) DBECA
(3) ECDBA (3) ECDBA
(4) CDBEA (4) CDBEA
Directions : For questions 56—59, if x means +, ot : v 56—59, % foauw afe xw A B -,
+ means —, — means x, + means +, then select the +H AT —F AL B x, c F HI B+, A A T
correct answers for these questions. forn @&t 3w gfw
56. 2+4-6+8=7 56. 2+4-6+8="7
(1) 18 (1) 18
) 26 (2) 26
(3) 22 (3) 22
(4) 12 @) 12
57. 3-6x2+5=" 57. 3-6%x2+5=7
(1) 6 (1) 6
2) 5 (2) 5
(3) 4 Q) 4
4) 3 4) 3
58 64x8 +5+3=7 58. 64x8 +5+3=7
(17 (1 7
(2) 6 (2) 6
Q)9 3) 9
(4) 8 4) 8
59 04 - 06 -05+02=7? 59. 04 - 06 -05+02="7

(1) 26 (1) 2
2) 30 (2) 3
(3) 2.8 (3) 2
(4) 3.2 4) 3



Directions : In questions 60-61, select the

alternative pair of words that has the same relationship
between them as the given pair of words.

60.

61.

62.

63.

Student : School

(1) Lawyer: Court
(2) Scientist : Project
(3) Patient : Hospital A
(4) Farmer: Crops
Blood : Heart

(1) Bones : Body

(2) Taste:Tongue
(3) Air:Lungs

(4) Hearing: Ears

In a code language 245 means Grass is Green;
5734 means Cow eats green grass and 25968
means Green is beautiful and cool. Which digit
means Grass ?

3 5
(4) 4

How many rectangles are there in the figure given
below :

15

Frdor : w9 60-61 ¥ 39 faspew w1 =1 U 57

T i A $ ey R TE FE |

60.

61.

62.

63.

forameff : Foreera
(1) = : 2
(2) e : TR
(3) = : A
(4) fHam : woa
™ T

(1) wfeea : wr
(2) @R ;S

(3) && : B
(4) T : FM

I forelt 2 wrm A 245 1 wef ® O AR R,
5734 %1 e B A wG W @’ SR 25968
Fd 2 'gugR iR ST R 1" R o 1 e o
22

(1) 2
2 7
3) 5
@) 4
< few g fos § e fm o € 2

T -]
[T« |-
(1) 18
(2) 26
(3) 30



Directions : Answer questions 64-65 after

studying the following details.

Out of 90 students of class IXth, rectangle denotes

students who are good in literary activities, circle
denotes students who are good in sports and triangle
denotes students good in art.

64.

65.

66.

67.

.22 S

L

How many students are good in literary activities
as well as sports ?

(1) 18
) 12
3) 15
) 10

How many students are good in literary activities
as well as arts ?

(1)
(2)
(3)
(4) 13

Aclock is placed in a way that 12 points towards
North direction and 3 points towards East
direction. The time on the clock is 7 : 28. In which
direction, do we find the hour hand and the
minute hand respectively.

(1) SW, SE
) SW, E
3) S, SE
(4) SW, NE

What angle is formed by the hour and minute
hands of a clock when the time is 10: 10 ?

(1) 100°
(2) 150°
(3) 120°
(4) 60°

15

12
16
17

16

e : T 64-65 F1 W FrAfEfER faawo 1

Y

&t wan & 90 fagafimt & wfew frae o wato

Toreanférl =t s | et T R, G- & veitor g
I FA W T FHew § waror faganfiat @t e @ gwfan

i

64.

65.

66.

67.

ferm faganedt wifefes fFmet 3 @a-#g <A o
weor € ?

(1) 18

2 12

(3) 15

@) 10

fre forenelt wifefeas franett @ wen <A1 & wator
g2

(1) 12

@) 15 N
3) 17

@) 13

T Ut 39 e W g ¢ R uEt H 12 s fn
SR gen 3 7d faen Y SR I R | W W wHa R
7 99 X 28 e | wnedt wEt ¥ W &t gE 9 fame
Ft wE ;e fom # SR 2

—

(1) Zferor-ufyem, 3faor-gd

2) feqor-ufeem, &

3) =fEu, Tferor-gd

(@) faor-ufeam, SW-1d

TF U H ue F g 9 e # g o fean smw
HI0T T TG 10 : 10 T TTE ?

(1) 100°
) 150°
(
(

)
2
)
)

3) 120°
4) 60°



68. A meaningful word ending with N is made from

69.

70.

71.

72.

the third, sixth, seventh and eighth letter of the
word ‘MARATHON'’. What is the first letter of the
word ?

URY
@ R
(3) H
@) A

Which letter is immediate_left to the 13th letter
of the English alphabets ?

Mk

2]

How many 2 digit numbers are there between
10-50 which are exactly divisible by 6 but not
by 4 ?

@) 2

@) 5

If 17 x 45 = 7415, then what would be 82 x 64 ?
(1) 2684

(2) 4564

(3) 4568

(4) 6248

The ratio between the speeds of two trains is
4:5 Ifthe second train runs 300 km. in 2 hours,
then the speed of the first train will be :

(1) 130 km/h
(2) 128 km/h
(3) 120 km/h

(4) 150 km/h

S/73 UPC/12—MAT(VIll)—2A

68. ‘MARATHON' ¥1=% & &Y, B3, Wad 9 313a quit

69.

70.

71.

72.

A oiF v e € Forgent sifm Aol N R 1T
W 1 qEel 99 F R ?

(1) O
@ R
(3) H
@) A

U Fofaren & ed gvf & fweay € 3 &
aof F ? 2

(1) k
@]
(3) n
ON

10-50 & =9 ® | NH awen geaen o fEa
Hea uE € S 6 @ fawifoa B o € wg 4 9@
faunfera 72 erdt ?

(1) 3

@) 4

3) 2

@) 5 _
afz 17 x 45=74157%1, A 82 x 64 F1 &M ?
(1) 2684

(2) 4564

(3) 4568

(4) 6248

2 termiedi it H S 4 ¢ 5 2 | Al T
TET 2 W ° 300 R, et €, @ veel et
g F R 2

(1) 130 fer.df./.
(2) 128 fwH/H.
(3) 120 fer.Ht. o
(4) 150 faeft./d.
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73. On selling 15 toys at Rs. 750, there is a loss

74.

75.

76

equal to the cost price of 5 toys. The cost price
of atoyis:

(1) Rs. 85
(2) Rs. 80
(3) Rs.65
(4) Rs. 75

Divide 50 by
answer ?

% and add 10. What is the

(4) 120

You are participating in a race. You have
overtaken the 3rd person. At what position are
you ?

(1) first

(2) third

(3) second

(4) fifth

The average weight of 8 persons increases by
2.5 kg. when a new person comes in place of
one of them weighing 65 kg. What is the weight
of the new person ?

(1) 76 kg

(2) 80Kkg.

(3) 85kg

(4) 90 kg

73. 15 o i # 750 94 § o914 W 5 faeq & %9
T & TR F B 2 | U fae & A ged
feam 2 ?

(1) %. 85
2) % 80
(3) ®. 65

@) & 75

74. 50 ® % 9 9 | 3@ 10 el | SW AR ?

(4) 120

75. M UH AT H 9O A ® € AR A9 AR =l H
0 g fen 2 1 A | o1 faw wwm W E 2

76. 313 SAfF 1 SfEd 9N 2.5 R 7@ S €
TF 65 R TR A =AfE AR TE TH
S 3T 2 | 3 AU Al A N 7
(1) 76 f&m.

(2) 80 fwm

(3) 85fFHm.

4) 90 fwam.

S/73 UPC/12—MAT(VIIl)—2B



Directions : For questions 77-78, choose the frder : 9w 77-78 & forw fom o fhe &1 9 e
correct alternative that fits into the pattern. faeg 4 |

77.

77.

Z\

(1) @

79. Of the two digit numbers from 11 to 35, how many 79. 11-35 T Fi & AT T gemsti ¥ fFad gen
have a second digit greater than the first ? et € for guu 3w R g A @ 2
(1) 17 (1 17
2) 15 2) 15
(3) 18 3) 18
(4) 20 (4) 20



1 1
80. If [Zj of (gj of a number is 20, then what
3
would be 5 of that number ?

(1) 240
(2) 144
(3) 120
(4) 480

Directions : In questions 81-82, on the basis of
relationship seen in the first two figures, choose the
options that fits the space left marked with ‘7’

"B A

(M )
3) (4)

00. % Feeh s o s e (3 | o 1 s o
{%J 20%‘?1'13'&14@%%31’%@1%‘1111?
(1) 240
(2) 144
(3) 120
(4) 480
e T 81-82 § wEd @ fa ® Haw

YR W 39 faswey F giw = fa o T wm 9 w9
FME |

‘@S A

™ )
/A
(3) @)

NN ?7
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Directions : In questions 83-90, identify the gt 9w 83-90" e fmdwE s &

answer figure which comes at ‘?’ in the problem figure. A W A T 9 fawen g :
8% Ty Problem : 8. gwEvProblem :
RNz ?§) 5% R IZ/ 7@%
I fa3/Answer figure I fa/Answer figure
Q) 2 ©)] @ M @ ©)] @
84. TuT/Problem : 84. Tu=/Problem:
IW fa/Answer figure : IW faa/Answer figure
(M ¢)) €] “) (1 @ (€) @)
85.  wmm/Problem 85. quE/Problem :
N[O ? DO ?
ST f=/Answer figure I fe/Answer figure :

allviviio 0| OV O

) 2) 3) “ M @ (€) @




86.

37.

88.

22

guE1/Problem : 86.
o lal)?
IW fa3/Answer figure
O @ o
i
(1 @ ) “)
quen/Problem 87.
E §\1J<w’?
3w f3/Answer figure
(H 2 ) @)
88.

&/ Problem

“IX X @Ol gla A
—_——= X. .... A ?

37 =/ Answer figure

A C

AAC C ==

(h 2 (3) (h

aa&/Problem :

[l

O | O

3w faa/Answer figure
= — 1 1
O ([ O
Ul |d
(N @ ©)] @)

FaE1/Problem :

LS T

3IW fa/Answer figure

VARV,

Q) @ 3)

“)

aaE/Problem :
— |x % oN A A
—= X. ..-. &

I f=/Answer figure

A C
AAC C

I

o~

4)

-~



89.

90.

ga&1/Problem :

A

OO 1O

I faa/Answer figure :

»

K

%
(1) ) 3) @
aaE/Problem :

<
X | XD

IW fa/Answer figure

X

)04

(1)

@ ©)]

@
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89.

90.

waE/Problem :

OK®

<

A

7 @)

IW fas/Answer figure

)

)

()

*

Q) (0)) 3 @
q99/Problem :
| XA B
IW faa/Answer figure :
XK DA X

0)) () (€)) @
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